#1210 Bleed valve screw

#3085 Stainless steel ball, hardened, 3.175 mm (1/8")

#1199 Bleed valve body
#2012 O-ring 4 x 2, NBR, 70 Sh

#2058 O-ring 9,25 x 1,78, NBR, 70 Sh

#2057 O-ring 12 x 2,50, NBR, 90 Sh

#1064 Connector DIN G 5/8 to M12x1

#1068 Handwheel DIN G 5/8
#1060 High pressure connecting block, 4 outlets M12x1
#2012 O-ring 4 x 2, NBR, 70 Sh

-t #1062 Blind plug M12x1

#2012 O-ring 4 x 2, NBR, 70 Sh

#1063 Throttling nozzle, body, M12x1
#3085 Stainless steel ball, hardened, 3.175 mm (1/8")
#1240 Spring insert 3x5, plastics (PEEK)

#2236 Set screw M4 x 5, flat, hex, stainless

Part: Flow limiter standard, DIN version
D IVESO FT www.divesoft.cz Part No: 8020

Units Scale | Size | Sheet Date Material: Material <neni uréen>
mm ‘E} 1:1 A4 10f1| 2.6.2014 Weight: 277.16 g




	List1
	Drawing View1


